Junior Office
WHCTpYKUMM No yCTaHOBKe 3aMKa

[Moka3aHHbIN 3aMOK BbINOSIHEH B COOTBETCTBUN
co ctaHgaptoM DIN u aBnsieTcst NeBOCTOPOHHUM.
YcTaHoBka netenb onucaHa Ha oboporte.

3amok noctaensieTcs B cobpaHHOM BUAE.
[Mpu ycTaHOBKE 3aMKa Ha CTEKO BbIMOMHANTE
cneaytoLLyto npoueaypy:

1. OTBEPHUTE BUHTbI C YTONIIEHHOW ronosko (1)
CO CTOPOHbI 3aLLENKN.

2. CHAMUTE KPbILLKY (2).

3. OTBepHUTE /ABa CTaBLUMX BUAVMBIMU BUHTa C
yTonneHHow rornoskor M6x30 (3) ¢ NOMOLLbIO KIoya-
LLeCTUrpaHH1Ka Ha 4 MM 1 OTCOeAMHUTE NNacTUHY 3amka
(4) c 3amkom (5) oT oTBETHOM NNacTuHsbl (6).

4. MNepen yCTaHOBKOW 3amMKa HaknewnTe BXOASALLYO

B KOMMNIIEKT arftoMUHUEBYIO MNaHky (7) Ha CTekno ¢
BHYTPEHHel CTOPOHbI. OTa NnaHka He No3BoNseT yBUAETb
BHYTPEHHME YacTK 3aMKa CO CTOPOHbI HE3aKpPbITO YacTu
cTekna. BelpaBH1BanTe nnaHKy No oTBETHON NNacTuHe.
Mocne ycTaHOBKK 3aMka 06pexbTe BbICTYNatoLLyo YacTb
nnaHku.

5. [NpuBepHUTE 3aMOK K OTBETHOW NNacTuHe, 3akpenus
MX Ha cTekre, B nopsiake, obpaTHOM pa3bopke.
MOMEHT 3aTSXKM BUHTOB = 5 HM.

6. MpuBEpHUTE KPbILLKY (2) BUHTaMK C yTONNEHHOMN
rorioBKoi (1) 1 ycTaHOBUTE HaXXUMHbIE Py4kM (8).

BHumaHwue:

MpohunnbHbIA LMNMHAPUYECKNIA 3aMOK CHaGXeH
creumnanbHOM 3aXKNMHON rakon, koTopas 3aBopayvBaeT-
€A1 TYro 1 Npu YCTaHOBKE KOTOPOI HEOBX0AMMO Npeoso-
1neTb HEKOTOPOE COMPOTUBIIEHME.

DORMA-Glas

Junior Office
Mounting instructions lock

lllustrated lock is a DIN LH
Mounting of the hinges see back page

You receive a completely assembled lock.
Please consider the following steps when mounting onto
glass:

1. Loosen the countersunk screws (1) at the latch side.
2. Remove cap (2).

3. Loosen the now visible two countersunk screws M6x30
(3) with a4 mm Allan key and remove lock plate (4) with
lock (5) from counterplate (6).

4. Before mounting the lock, stick the enclosed aluminium
strip (7) at the interior side onto the glass. The strip
prevents the sight into the lock at the free glass edge.

Use the counterplate for aligning the strip. After having
mounted the lock, cut the overhanging strip off.

5. Screw lock with counterplate against the glass in reverse
sequence.
Tightening torque of screws = 5 Nm

6. Fasten the cap (2) with countersunk screws (1) and
mount lever handles (8).

Attention:
The profile cylinder lock has a special clamp nut, which has
a tight square fit - light pressure point must be overcome.

800.52.034.6.32

(A)

(B)

BHELLUHAA CTOPOHa

BHYTPEHHSISi CTOPOHa

(E)

>\

JIeBOCTOPOHHWIA
3amok DIN

NpaBOCTOPOHHUI
3amok DIN

OTBEpPCTUA B CTEKne

W3pnaHue/lssue 09/02

y@

N
/

R

Crpanuua/Page 1/2

©



Junior Office
WHCTpYKUMM NO yCTaHOBKE MeTnu

Y6eauTech, YTO Ha KpENEXHON NOBEPXHOCTH CTEKNA
B MecCTe YCTaHOBKU NeTenb HET CMa3ku.

1. MomecTnTe ABEPHOE NOMOTHO B pamy, yCTaHOBMB
€ro Ha 7-MUNMUMETPOBbIE NPOCTaBKN (HWKHUIA 3a30p),
nocre Yero BbIPOBHSIITE CTOPOHbI.

2. BcraBbTe YacTu Ansi pambl (1) B pamy 1 3akpenuTe ux.

3akpoiiTe X KpbllLkamm (2).

3. Y6eauTech, 4TO WapukonoawmnHuk (11) yctaHoBneH
npaBuIbHO.

4. HapgeHbTe netnio (3) Ha BCTaBreHHY0 B paMy 4acTb,
BCTaBbTe 60NT (4) U 3aKpenuTe ero yCTaHOBOYHbIM
BUHTOM (5).

5. BcTaBbTe nnactukosble Konbua (6) B oTBepcTust

B CTekne. 3akpenute 3aXMMHYI0 NNacTuHy (7) BUHTaMu
C yTonneHHon ronoskoin M6x24 (8) Ha netrne ¢ BHelUHeW
CTOPOHbI.

MOMEHT 3aTsXKu BUHTOB = 12 HM.

6. MpukneiiTe KPbILLKY (9) Ha 3aXKMMHY0 NNacTuHy (7)
C NMOMOLLbI0 ABYXCTOPOHHE Kreinkon neHTsl (10).

DORMA-Glas

Junior Office
Mounting Instructions Hinge

Please make sure that the clamping surface of the glass is
grease free for the hinges

1. Place glass door panel into door frame and set 7 mm
spacer plates (lower clearance), then align sides.

2. Insert frame portions (1) into frame and secure them. Set
cover bush (2).

3. Make sure that the ball bearing (11) is fitted in the
correct way!

4. Slide hinge (3) onto frame portion, insert bolt (4) and
secure it with setscrew (5).

5. Insert the plastic rings (6) into the glass holes. Fasten
clamp plate (7) with countersunk screws M6x24 (8) against
hinge from the exterior side.

Tightening torque of screws = 12 Nm

6. Stick cover cap (9) with double sided adhesive tape (10)
onto clamp plate (7).

800.52.034.6.32

45

R

v (0

SV
|
o [_Joo
0

0

[Joo

N7

DY

®

W3pnaHue/lssue 09/02

Crpanuua/Page 2/2



